



addizione di frazioni (frazione propria) (frazione
impropria)

Nome: _____

Data: _____ Punteggio: _____

$$\frac{3}{9} + \frac{3}{9} =$$

$$\frac{4}{3} + \frac{5}{8} =$$

$$\frac{7}{6} + \frac{1}{4} =$$

$$\frac{1}{7} + \frac{6}{5} =$$

$$\frac{7}{5} + \frac{5}{8} =$$

$$\frac{3}{9} + \frac{4}{8} =$$

$$\frac{7}{5} + \frac{6}{9} =$$

$$\frac{2}{7} + \frac{4}{9} =$$

$$\frac{7}{4} + \frac{1}{2} =$$

$$\frac{6}{9} + \frac{3}{6} =$$

$$\frac{7}{5} + \frac{2}{3} =$$

$$\frac{1}{3} + \frac{2}{8} =$$

$$\frac{2}{3} + \frac{1}{9} =$$

$$\frac{6}{5} + \frac{4}{7} =$$

$$\frac{2}{8} + \frac{6}{4} =$$

$$\frac{7}{2} + \frac{4}{5} =$$

$$\frac{3}{9} + \frac{5}{2} =$$

$$\frac{1}{9} + \frac{7}{5} =$$

$$\frac{1}{9} + \frac{4}{9} =$$

$$\frac{7}{2} + \frac{2}{7} =$$



Nome: _____

Data: _____ Punteggio: _____

$$\frac{3}{9} + \frac{3}{9} = \frac{2}{3}$$

$$\frac{4}{3} + \frac{5}{8} = \frac{47}{24} = 1\frac{23}{24}$$

$$\frac{7}{6} + \frac{1}{4} = \frac{17}{12} = 1\frac{5}{12}$$

$$\frac{1}{7} + \frac{6}{5} = \frac{47}{35} = 1\frac{12}{35}$$

$$\frac{7}{5} + \frac{5}{8} = \frac{81}{40} = 2\frac{1}{40}$$

$$\frac{3}{9} + \frac{4}{8} = \frac{5}{6}$$

$$\frac{7}{5} + \frac{6}{9} = \frac{31}{15} = 2\frac{1}{15}$$

$$\frac{2}{7} + \frac{4}{9} = \frac{46}{63}$$

$$\frac{7}{4} + \frac{1}{2} = \frac{9}{4} = 2\frac{1}{4}$$

$$\frac{6}{9} + \frac{3}{6} = \frac{7}{6} = 1\frac{1}{6}$$

$$\frac{7}{5} + \frac{2}{3} = \frac{31}{15} = 2\frac{1}{15}$$

$$\frac{1}{3} + \frac{2}{8} = \frac{7}{12}$$

$$\frac{2}{3} + \frac{1}{9} = \frac{7}{9}$$

$$\frac{6}{5} + \frac{4}{7} = \frac{62}{35} = 1\frac{27}{35}$$

$$\frac{2}{8} + \frac{6}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\frac{7}{2} + \frac{4}{5} = \frac{43}{10} = 4\frac{3}{10}$$

$$\frac{3}{9} + \frac{5}{2} = \frac{17}{6} = 2\frac{5}{6}$$

$$\frac{1}{9} + \frac{7}{5} = \frac{68}{45} = 1\frac{23}{45}$$

$$\frac{1}{9} + \frac{4}{9} = \frac{5}{9}$$

$$\frac{7}{2} + \frac{2}{7} = \frac{53}{14} = 3\frac{11}{14}$$